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Item No: 42
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Item No: 43
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Item No: 45
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A n=31=2 mj=1,m =+1/2
B.n=4,1=1,m=0.m,=+1/2

Question: C.n=4,1=2, m=-2, m,=-1/2
D.n=3,1=1,my=-1,m,=+1/2
dled MU Suidl SRR SpH 3G,

A D<B<A<C

B: D<A<B<C

C: B<D<A<C

D: B<D<C<A

Topic: Chemistry-Section A

Item No: 63

Question ID: 1269463

Question Type: | MCQ

C(s) + Oy(g) — CO,(g) + 400 kJ
C(s) + %Oz(g) — CO(g) + 100 kJ

Question: 60% ST ST DIl SR S TRISHE T NER 60% HIETd <CO°

0 S Uik gid. 911 Afgd & <co,’ T Bld. 0.6 kg DIooH] Soeday
EAUGHEEINEEESE

A: 1600 kJ

B: 3200 kJ

C: 4400 kJ

D: 6600 kI

Topic: Chemistry-Section A

Item No: 64

Question ID: 1269464

Question Type: | MCQ

Question:

200 ml 0.01 M HCI 31101 400 ml 0.01M H,S0,,. Uhd &al. YT pH
SR YT log 2=0.30,log 3=0.48.log 5=0.70. log 7=0.84. log 11 = 1.04

A:

1.14




B: 78

C: 2.34

D: 3.02

Topic: Chemistry-Section A

Item No: 65

Question ID: 1269465

Question Type: | MCQ

Grell STel argd W qrumrE fgd oe:
ag U dIHH (K)

He T2

Question: CH, 190.0
CO, 3042
NH; 405.5

GIfde URATT=AT SIGAGR Fdld HHT URTNU SRAfAURT Y ------- 3118

A: He

B: CH,

C: co,

D: NH;

Topic: Chemistry-Section A

Item No: 66

Question ID: | 1269466

Question Type: | MCQ

Question: fe==ar (sn) wdi@<ur uihdd

A: sn d1 groaref gfshar gid.

B Sn g1 91041 faRgeadl.

C: Sn Bl SARIdR drgddl SIdl.

D Sn 1 PIUIATG! SdTd favdodl,

Topic: Chemistry-Section A

Item No: 67

Question ID: 1269467

Question Type: | MCQ




Grait g faem fel 3med.
AU 1. -4 g WUdld gSEed 3aIeRul 318,

Question: i
faem I1: T 8 Hum‘};:’grﬂ%.
axid [y aRieR [BCE]
A: SIvel TORT 1 0T 1T SRIER 3{Ted.
B: Gl fauT 1 311101 11 Fhtat 3iTed.
C: fae 1 SRISR 3118 IR [ 11 9o 1= 318,
D: faur 1 It 318 U= AU 11 SIeR 3178,
Topic: Chemistry-Section A
Iltem No: 68
Question ID: 1269468
Question Type: | MCQ

Question: Uicers Rytend i Sl arefauammd! X 3. <X SR 3He?
) |

A CaS0Oy4 = H,0

C: CaSOy,

D CaCOs;

Topic: Chemistry-Section A

Item No: 69

Question ID: 1269469

Question Type: | MCQ

Q@T@iﬂﬂcooaﬁmﬁ@wwmﬁﬁ@ﬂaﬁmﬁm

Question: T —_— &ﬂ%
A: B,0;

B: Co(BO,),

C: CoB,405

D: Co[B4O5(0H),]
Topic: Chemistry-Section A
Item No: 70

Question ID: 1269470

Question Type: | MCQ

Question:

qTuaTe faRU@aeaIaR Hald B! WoeHTaT ST (AHy,, q) GICTAUD] BHI0TT 3d-
¢T3 5a?




A: Cl"
B: Mn2™
C: Fel®
D: Col™

Topic: Chemistry-Section A
Item No: 71

Question ID: 1269471

Question Type: | MCQ

DIUR (I1) =1 AP Yperr Y= fapdl (Jahn-Teller) BId. WIeil faeiedT

Question: IR (1) IHTP! DIV HHAA G fapdl argaa? (34T, — Ui
SIUHH: H,N-CH,-CH,-NH,)

A: [Cu(H,0)5]80,

B: [Cu(en)(H,0),4]80,

C: cis-[Culen),Cl,]

D: trans-[ Cu(en),Cl,]

Topic: Chemistry-Section A

Item No: 72

Question ID: 1269472

Question Type: | MCQ

SIOTEEH §1 U Jawe §Y71 31T, YUT 34fd S=1aR ffufchar g &=

Question: SIS BIdId. AT HaSS Sl SISl U RId Dl 0T FehI<
SRy fa=Te Bl dl HTe.

A: NO

B: NO;

C: NO,

D: NO,

Topic: Chemistry-Section A

Item No: 73

Question ID: 1269473

Question Type: | MCQ

Question:

- MHYUEd SO et Slelaiselssdl aRiaR I 31Te.




A:
i
B: \\O/CHQ —C—H
O
||
’ [:l/\ H
i
@/CHQC —H
D:
Topic: Chemistry-Section A
Item No: 74
Question ID: 1269474
Question Type: | MCQ

%

=a=@@ﬁﬁﬁ$ﬂ$ A TG +B° Sl. GG B = SRIGR HI=T SAf0T
[f51d Et = C,Hs]

Question: (i) Mg, EtrO B
(i) D20
Br
Compound "A'
A: >_< A
p -/chira
B: >_< . Chiral
oD




C: >_< _Chiral
D

D: >_/\UD Achiral

Topic: Chemistry-Section A
Item No: 75
Question ID: 1269475
Question Type: | MCQ
reit g faem feerel smed.
CH,
| NO,
fqumL¥gn 7 u Uy fhardid 3.
o
Question: CH, (A)
CH,
e 1 02N | B O U uidfdd 3.
H NN
.. »CH;
aRia [eER wrel foden waiigs 9 3w Hast,
A: G5l TaUT 1 3107 11 SRISR S8,
B: Gigl fquT 1 31107 11 b I=it SHTed.
C: faur 1 SRIeR 318 W= [qurH 11 g4 3118,
D: faur 1 gopl 31mg U= faur 11 axisR 31Tg.
Topic: Chemistry-Section A
Item No: 76

Question ID: 1269476

Question Type: | MCQ

SYHIeHl 98d H,S0,. SRR Uichdl S edlar 91g dUR gidl. arfE! 43R
Question: PIRG4S 3ied od g SIauieRiar Ui Bl 3 g’
EINNIEE 31Tg.

A: BIHASEIES
B: GBI om




NI

D: SUAISD S
Topic: Chemistry-Section A
Item No: 77
Question ID: 1269477
Question Type: | MCQ
Question: fega AfHR® 3TE.

0

Il
A: ﬁ -l

0]

N," Cl
0
C: N K
ey
N=N
’ /O/
HO

Topic: Chemistry-Section A
Item No: 78
Question ID: 1269478
Question Type: | MCQ
Question: AU | DIl A9l ggaTke Alel?
A: PIEGH
B T
C: R RS
D A
Topic: Chemistry-Section A

Iltem No:

79




Question ID:

1269479

Question Type:

MCQ

GTai! & fauT el 3ed. U fAUr A 3118 31101 §3R FRUTR 8.
Ay A Ufaes gvard favgesd T8

Question: ST R: THIEIS 200 U&7 S WS Uhd SR e, 181 X0 38,
aRiat feiTaR arel foden wiigH 9 3w Hast,

A: alolel A U R W 3{18d MU R § A 9 SRIGR WP D0 B,

B: Glielel A JTUTR @ Sed UUTR § A d SRR WS AR

C: AT 3 UUTR WIT 3G

D: AdEC 31% YU R &Y Gﬂ%

Topic: Chemistry-Section A

Item No: 80

Question ID: 1269480

Question Type: | MCQ

TG X U ST T8, NaOH Sl CH;COOH =41 YHHeud (41 pH Saw@

Question: X A Sed SrRafddl. ST H1eard S <X 81 HgiHd TEurd S,
A: Bfet SR

B: Hefte drd

C: Tcwfer

D: Q’\ﬂﬁﬁ D f

Topic: Chemistry-Section B

Item No: 81

Question ID: | 1269481

Question Type:

Numeric Answer

x’ g YA SHMFIS (0,) 200 g F341 (Ne) Hed forgeza. sifshamiia fygom=r
(O, HTIUT Ne) ETd FITSITE 25 bar 38, T ATUH 10T STHRUETET Ne =1

Question: 3{TId: ST§ 20 bar 318, x’ %“:E”_ 3G,
[SATHIR T 04 YR 0,=32¢ mol L.
04T YR Ne = 20 g mol'!]

Topic: Chemistry-Section B

Item No: 82

Question ID: 1269482

Question Type:

Numeric Answer




Question: 5 ’ . S . .
aRiet YUHE) EHE sp?d? W01 M1 U1/ g1 ST 3%
Topic: Chemistry-Section B
Item No: 83
Question ID: 1269483

Question Type:

Numeric Answer

1.80 g GTT A. 62.5 em® SUATGHY favaesidel Sl S1aUIMET @IS 155.1 K

oIdl. G A 9130419 HR g mol™! 318,
Question: SR YT YT MNP 156.0 K.
g’i\l:l‘fﬁm 080¢g em™.
U Hidd °c fRRRIP 2.00 K ke mol™!
Topic: Chemistry-Section B
Iltem No: 84
Question ID: 1269484

Question Type:

Numeric Answer

Question:

fagga ue

Cu(s) | Cu?"(0.001M) || Ag™ (0.01M) | Ag ()

13! ge [dyd 0.43 V 298 K AIUHMEIE! 318, Cu?™/Cu 31 YHIU Seide IS

fGua= oA <1072V 3.
Given:E® =080V and 2R oiev
Ag” [ Ag
Topic: Chemistry-Section B
Item No: 85
Question ID: 1269485

Question Type:

Numeric Answer

TG, 3TgTd 30 Y SFEUIRAT AR [RUTERT Tased ™l X 1ug dladl

Question: SATST YA Haal o) 100 THHGR SSTa Afedd X A URAT x 107 e
3TS.
[STYR MU In 10 = 2.303; log 2 = 0.30]

Topic: Chemistry-Section B

Iltem No: 86

Question ID: 1269486

Question Type:

Numeric Answer




Na[Co(bpy)Cl,] HENT iTaiTs Ry it gedgerdl &l 31T,

Question: / \ / \
(SR FIHUT: bpy = )

Topic: Chemistry-Section B

Item No: 87

Question ID: 1269487

Question Type:

Numeric Answer

ATe! e AT Sffasi T faeh omed.

Question: H,50;, H,S0,. H,8,04 and H,$,0,. TR (0-0) §4 Fciedl a3t
=T _ Sl

Topic: Chemistry-Section B

Item No: 88

Question ID: 1269488

Question Type: | Numeric Answer
92.0 g/mol XU YR 0TI ‘T\Ilf’ﬁﬁmtiﬂﬁ 3fehiglidd FITT X 1.84 mg

Question: T 1.344 mL SIS aig STP ol f&al. ¥g71 <X Hdia siepigiicis
SOSIG-ad! ST 318,

Topic: Chemistry-Section B

Item No: 89

Question ID: 1269489

Question Type:

Numeric Answer

(+) Ph(C=0)C(OH)(CN)Ph 3101 HCN [Phis - C4H;] =T 3HUfbdT TR

Question: S
reie Ff SagEHE e 3Te.
Topic: Chemistry-Section B
Item No: 90
Question ID: 1269490

Question Type:

Numeric Answer

Question:

WWWWH%WWH@TW smor




